
Viper
®

RED DOT

© 2020 Vortex Optics. ® Registered Trademark and TM Trademark of Vortex Optics. 03/12/2020 Version: 3

1

2

4
3

5

6

Parts
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

1 C-00720-0  Viper red dot mount 1 Includes mount lug

2 C-00718-0 Viper Red Dot scope to mount 
screw 2 #6-48x5/16". Tighten to 12 in lbs 

with loctite or 15 in lbs dry

2 C-02268-0 Viper to Springfield OSP screw 2 #6-48x1/4". Tighten to 12 in lbs 
with loctite or 15 in lbs dry

2 C-02270-0 Viper to Glock MOS screw 2 M3-.5x6mm. Tighten to 12 in lbs 
with loctite or 15 in lbs dry

2 C-02270-0 Viper to FNX screw 2 M3-.5x6mm. Tighten to 12 in lbs 
with loctite or 15 in lbs dry

2 C-03340-0 Long scope to Glock MOS 
screw 1 M3 .5x8mm screw. Tighten to 12 in 

lbs with loctite or 15 in lbs dry
3 C-03272-0 Viper Red Dot Lock Spring 2 Lock set screw kit

4 C-03271-0 Viper Red Dot Lock Pin 2 Lock set screw kit

5 C-03270-0 Lock Set Screw 2 Lock set screw kit

6 C-02267-0 Viper Red Dot mount to rail 
Screw 1 Tighten to 20-25 in lbs.

In-Box Accessories
ITEM NO. PART NUMBER DESCRIPTION QTY. NOTES

 C-00681-0 Torx Wrench, T10 1

 C-00717-0 Flat Wrench 1

 C-00719-0 Viper Red Dot Rubber Cover 1

 C-02963-0 Lens Cloth 1

 M-00005-1 Viper Red Dot Owner's Manual 1

  BATTERY CR2032 1 Cannot ship

Viper Red Dot Models
Model Features
VRD-6 6 MOA Dot

VRD-6
Viper Red Dot


